Biology 1030 Chpt 37 Practice Test
Multiple Choice
Identify the letter of the choice that best completes the statement or answers the question.
____
1.
Carbon dioxide is a pollutant because it

	a.
	is absorbed by the ocean and converted into insoluble carbonates.

	b.
	is liberated when fossil fuel is burned.

	c.
	is a waste product of respiration.

	d.
	cannot be recycled at a rate equal to its present production.


____
2.
In the United States, how many metric tons of pollutants are discharged into the atmosphere each day?

	a.
	1,000

	b.
	100,000

	c.
	700,000

	d.
	5 million

	e.
	15 to 30 million


____
3.
Air pollution

	a.
	reduces visibility.

	b.
	corrodes buildings.

	c.
	causes various human diseases.

	d.
	damages plants.

	e.
	all of these


____
4.
Air pollution may cause

	a.
	lung cancer.

	b.
	emphysema.

	c.
	bronchitis.

	d.
	burning eyes.

	e.
	all of these


____
5.
Which acid is a severe air pollutant?

	a.
	carbonic acid

	b.
	nitric acid

	c.
	hydrofluoric acid

	d.
	hydrochloric acid

	e.
	boric acid


____
6.
Acid rain occurs when

	a.
	carbon dioxide combines with water in the atmosphere.

	b.
	phosphorus-rich water in lakes evaporates to form phosphoric acid.

	c.
	sulfur released in burning fossil fuels combines with water in the atmosphere.

	d.
	excess hydrogen is released into the atmosphere where ozone is formed.


____
7.
Acid rain

	a.
	increases the mobility of toxic heavy metals.

	b.
	is the major reason for the production of sterile lakes around the world.

	c.
	is rainwater with a pH above 7.

	d.
	is primarily the result of industrial pollution.

	e.
	is all of these except the pH is below 7.


____
8.
The two chemical elements associated with acid deposition are

	a.
	nitrogen and oxygen.

	b.
	sulfur and oxygen.

	c.
	nitrogen and sulfur.

	d.
	carbon and oxygen.

	e.
	nitrogen and carbon.


____
9.
Acid rain

	a.
	attacks nylons.

	b.
	attacks marble statues.

	c.
	causes toxic metals to become motile in the ecosystem.

	d.
	can be reduced in the local area by tall smokestacks.

	e.
	all of these


____
10.
Each of the following substances contributes to acid rain EXCEPT

	a.
	ozone.

	b.
	waste products from the burning of coal.

	c.
	nitrogen fertilizers.

	d.
	waste products from the burning of gasoline.


____
11.
Acid rain is NOT a serious problem in some areas because of the presence of which substance in the soil?

	a.
	granite

	b.
	carbonate

	c.
	clay

	d.
	sand


____
12.
The unequal distribution of acid rain over the United States is closely correlated with

	a.
	per capita energy use.

	b.
	fertilizer use.

	c.
	burning fossil fuels.

	d.
	average summer temperatures.


____
13.
The region of the United States most affected by acid rain is the

	a.
	Northwest.

	b.
	Southwest.

	c.
	Northeast.

	d.
	Southeast.


____
14.
Transportation-produced smog causes air to turn

	a.
	gray.

	b.
	black.

	c.
	brown.

	d.
	red.

	e.
	blue.


____
15.
A thermal inversion refers to

	a.
	an abnormal occurrence not predicted by meteorologists.

	b.
	an Indian summer.

	c.
	an unusually quick change in weather patterns.

	d.
	the process of cool air drainage at night.

	e.
	a layer of cool air trapped underneath a warm air blanket.


____
16.
When the burning of fossil-fuels in manufacturing plants gives off particulates and sulfur oxides, we have

	a.
	photochemical smog.

	b.
	industrial smog.

	c.
	a thermal inversion.

	d.
	both photochemical smog and a thermal inversion.

	e.
	both industrial smog and a thermal inversion.


____
17.
Industrial smog causes air to turn

	a.
	gray.

	b.
	black.

	c.
	brown.

	d.
	red.

	e.
	blue.


____
18.
Which city has brown fog?

	a.
	London

	b.
	Los Angeles

	c.
	Chicago

	d.
	New York

	e.
	Pittsburgh


____
19.
When the burning of fossil-fuels in vehicle engines off particulates and nitric oxides, what results?

	a.
	photochemical smog

	b.
	industrial smog

	c.
	a thermal inversion

	d.
	both photochemical smog and a thermal inversion.

	e.
	both industrial smog and a thermal inversion.


____
20.
Which factor is NOT characteristic of a city primarily plagued by industrial smog?

	a.
	high concentration of sulfur oxides

	b.
	dependence on fossil fuel for manufacturing

	c.
	cold, wet winters

	d.
	high concentration of nitrogen oxides


____
21.
Which factor is NOT characteristic of a city primarily plagued by photochemical smog?

	a.
	high concentration of sulfur oxides

	b.
	high concentration of nitrogen oxides

	c.
	significant amounts of PANs

	d.
	large numbers of internal combustion engines


____
22.
In brown air fog, which substance combines with nitrogen dioxide in the sunlight to form photochemical smog?

	a.
	carbon monoxide

	b.
	water vapor

	c.
	hydrocarbons

	d.
	sulfuric acid

	e.
	all of these


____
23.
What results when nitrogen dioxide and hydrocarbons react in the presence of sunlight?

	a.
	photochemical smog

	b.
	industrial smog

	c.
	a thermal inversion

	d.
	both photochemical smog and a thermal inversion.

	e.
	both industrial smog and a thermal inversion.


____
24.
Chlorofluorocarbons (CFCs) are pollutants because

	a.
	biogeochemical mechanisms for their removal have not yet appeared in the biosphere.

	b.
	they combine with water to form hydrochloric and hydrofluoric acids.

	c.
	they are found in smog.

	d.
	they are photochemical oxidants.


____
25.
The atmosphere above which region is known to have a hole in the ozone layer?

	a.
	Antarctica

	b.
	Eastern North America

	c.
	Northern Europe

	d.
	the western Pacific


____
26.
Each factor appears to be correlated with a decrease in atmospheric ozone EXCEPT

	a.
	suppression of the immune system.

	b.
	decreased rates of photosynthesis.

	c.
	increased incidence of skin cancers.

	d.
	decreased levels of atmospheric carbon dioxide.


____
27.
Uses of chlorofluorocarbons include each of the following EXCEPT

	a.
	gasoline additives.

	b.
	aerosol propellants.

	c.
	refrigeration coolants.

	d.
	plastic packaging.


____
28.
About how many tons of waste does the population of the United States produce per year?
	a.
	153 million 

	b.
	25 billion

	c.
	52 million

	d.
	80 billion

	e.
	101 million


____
29.
What percentage of urban wastes are paper products?

	a.
	10

	b.
	20

	c.
	50

	d.
	75

	e.
	more than 90


____
30.
Using recycled paper could reduce the air pollution that results from paper manufacturing by

	a.
	50 percent

	b.
	95 percent

	c.
	5 percent

	d.
	zero percent.

	e.
	75 percent


____
31.
Landfills should contain

	a.
	all garbage.

	b.
	nonbiodegradable wastes.

	c.
	nonrecycled solid wastes.

	d.
	glass and metallic debris.

	e.
	organic litter.


____
32.
How many trees are required just to print all the Sunday newspapers in the United States?

	a.
	1 million

	b.
	100,000

	c.
	500,000

	d.
	2 billion

	e.
	none because all the paper is recycled


____
33.
Approximately 50 percent of the billions of tons of solid wastes produced in the United States is

	a.
	glass.

	b.
	paper.

	c.
	aluminum.

	d.
	plastic.


____
34.
Of the earth's land, what is the maximum percentage now being used for agriculture?

	a.
	10

	b.
	21

	c.
	50

	d.
	75


____
35.
The new high-yield crops require which of the following that cannot be supplied by subsistence agriculture?

	a.
	irrigation

	b.
	pesticides

	c.
	fertilizers

	d.
	fossil fuel energy

	e.
	all of these


____
36.
Subsistence agriculture does not utilize

	a.
	human labor.

	b.
	sunlight.

	c.
	available soil.

	d.
	synthetic fertilizers.

	e.
	water.


____
37.
For a given crop yield, modern agricultural practices require how many times more energy and mineral resources than is required by subsistence agricultural practices?

	a.
	.01

	b.
	.25

	c.
	4

	d.
	25

	e.
	100


____
38.
Tropical plants or their products have provided humans with all of the following EXCEPT

	a.
	medicines.

	b.
	grain.

	c.
	spices.

	d.
	fuel.


____
39.
Deforestation results in

	a.
	increased air temperatures.

	b.
	decreased soil fertility.

	c.
	altered rainfall patterns.

	d.
	a and b

	e.
	a, b, and c


____
40.
The soils in the tropical rain forest are nutrient-poor because

	a.
	they are located near the equator.

	b.
	the trees remove most of the good things.

	c.
	decomposition of organic matter is very rapid.

	d.
	leaching occurs even before tree cutting.

	e.
	of shifting cultivation.


____
41.
At current rates of clearing and degradation, the disappearance of the tropical rain forest biome may be complete by the year

	a.
	2035.

	b.
	2100.

	c.
	2150.

	d.
	2200.


____
42.
The primary cause of desertification in the world today is

	a.
	increased salinity resulting from irrigation practices.

	b.
	overgrazing of marginal lands.

	c.
	clearing and degradation of tropical forests.

	d.
	herbicide and fertilizer runoff.


____
43.
For every million liters of water in the world, only about __________ liters are in a form that can be used for human consumption or agriculture.

	a.
	6

	b.
	60

	c.
	600

	d.
	6,000


____
44.
Of all the water on the earth's surface, most of it is NOT fit for human consumption because it contains

	a.
	microbial pollutants.

	b.
	salt.

	c.
	heavy metals.

	d.
	pesticides.

	e.
	CFCs.


____
45.
Of the following, which would probably be the safest source of drinking water?

	a.
	municipal water supply

	b.
	clear mountain stream

	c.
	deep well

	d.
	shallow well

	e.
	rainwater


____
46.
Primary treatment of sewage involves

	a.
	filtration and sedimentation, which physically treats water.

	b.
	the biological degradation of the organic material.

	c.
	the most expensive sewage treatment process.

	d.
	the chemical treatment of the water to neutralize its effects.

	e.
	chlorination or ultrasonic vibration, removal of nitrogen from ammonia, and precipitation of phosphate compounds.


____
47.
After secondary sewage treatment, the water may contain all of the following EXCEPT

	a.
	viruses.

	b.
	oxygen-demanding wastes.

	c.
	nitrates and phosphates.

	d.
	large suspended solids.

	e.
	pesticides and industrial chemicals.


____
48.
Which process is NOT generally considered a component of tertiary wastewater treatment?

	a.
	microbial action

	b.
	precipitation of suspended solids

	c.
	reverse osmosis

	d.
	absorption of dissolved organic compounds


____
49.
Primary treatment of wastewater does NOT involve using which of the following?

	a.
	sedimentation tanks

	b.
	aeration with pure oxygen

	c.
	mechanical screens

	d.
	chemicals such as aluminum sulfate


____
50.
Which is NOT a result or effect of irrigation?

	a.
	increased food production

	b.
	waterlogging of soil

	c.
	raised water tables

	d.
	alteration of soil type


____
51.
The most harmful element in coal that causes serious pollution problems is

	a.
	nitrogen.

	b.
	silver.

	c.
	carbon.

	d.
	sulfur.

	e.
	chlorine.


____
52.
Fossil fuels

	a.
	are renewable natural resources.

	b.
	will be commercially depleted within the next 100 years.

	c.
	can be utilized without any environmental degradation.

	d.
	are essentially pure carbon deposits.


____
53.
Carbon dioxide in the atmosphere

	a.
	is destroying the ozone layer.

	b.
	has dramatically increased in the last few decades.

	c.
	is one of the prime reasons for acid rain.

	d.
	is a waste gas produced by respiration and has no biological use.


____
54.
Which of the following is the most reliable source of energy for the next few hundred or thousands of years?

	a.
	oil

	b.
	coal

	c.
	sun

	d.
	natural gas

	e.
	nuclear


____
55.
If one kind of plutonium isotope is not removed, the wastes from a nuclear power reactor must be kept out of the environment for how many years before they are safe?

	a.
	25

	b.
	250

	c.
	250,000

	d.
	1 million


____
56.
Which statement about nuclear power plants is true?

	a.
	Their net energy production is relatively low.

	b.
	Their waste products lead to the production of acid rain.

	c.
	Their waste products are radioactive.

	d.
	Their net energy production is relatively low; and their waste products lead to the production of acid rain.


____
57.
Problems associated with the extraction or use of coal as a large-scale source of energy include all of the following EXCEPT

	a.
	production of sulfur oxides.

	b.
	stripmining in fragile semiarid environments.

	c.
	limited reserves.

	d.
	amplification of the general warming trend of the earth.


____
58.
To produce power from fusion,

	a.
	breeder reactors must convert uranium to plutonium.

	b.
	hydrogen and oxygen are combined to yield water.

	c.
	hydrogen atoms are joined to form helium.

	d.
	breeder reactors must convert uranium to plutonium and hydrogen and oxygen are combined to yield water.

	e.
	breeder reactors must convert uranium to plutonium and hydrogen atoms are joined to form helium.


____
59.
Which of the following accurately describes the concept of solar-hydrogen energy?

	a.
	Hydrogen gas is trapped by solar cells.

	b.
	Solar energy is used to fuse hydrogen atoms into helium atoms.

	c.
	Electricity is produced by the splitting of hydrogen atoms using sunlight power.

	d.
	Sunlight produces electricity which is used to produce hydrogen fuel.

	e.
	Solar power is tapped for use in hydrogen-breeder reactors.

	
	


Matching
Matching. Choose the one most appropriate answer for each.

	a.
	a process that is part of tertiary wastewater treatment

	b.
	could happen in a conventional nuclear fission reactor

	c.
	coal, oil, gas

	d.
	photochemical smog component, like tear gas

	e.
	dense air trapped beneath a layer of warm air

	f.
	its reactions resemble those occurring in the sun

	g.
	depends on microbial action

	h.
	slash and burn

	i.
	forms sludge from coarse, suspended solids

	j.
	uses photovoltaic cells to generate burnable gas

	k.
	can cause depletion of ozone

	l.
	tiny particles that attack marble and cause crop damage

	m.
	salt deposition that results from irrigating arid-zone soils


____
60.
solar-hydrogen energy
____
61.
dry acid depositions
____
62.
fossil fuels
____
63.
salination
____
64.
fusion power
____
65.
chlorofluorocarbons
____
66.
meltdown
____
67.
shifting cultivation
____
68.
primary treatment
____
69.
PANS
____
70.
reverse osmosis
____
71.
thermal inversion
____
72.
secondary treatment

_____73.   The greenhouse effect could affect

a. global temperatures

b. rainfall patterns

c. agricultural lands

d.  all of these.

